Try and work out if you need to add or subtract to solve these word problems.
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1. Canada are 86 seconds slower than Japan in the KL1 canoe race. If Japan
took 257 seconds, how long did Canada take?
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2. One hotel has athletes staying from Germany, Spain and Australia. If there
are 98 members of the German team, 65 members of the Spanish team and

| 147 members of the Australian team, how many rooms does the hotel need to

get ready?
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3.In the first round, there were 144 athletes competing in the judo competition.
By the quarterfinals, 136 had been defeated. How many were left?

4. The swimming pool stadium holds 983 spectators. If 436 people are seated,
how many seats are empty?
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|5 What isthetotal amount o athetes participating inthe event?
| Country Amount of athletes
| Finland 145
Belgium 219
| Croatia 382

6. In the seven-a-side football tournament, Russia score 32 goals. Chile score
28 goals and France score 43 goals. How many goals are scored altogether?
7. In the T35 400m, the winner is 48 seconds faster than the runner who
| finished second. If the second place runner's time was 2 minutes and 14
seconds, what was the winner's time?
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| 8.The organisers bought 732 bottles of water for athletes to take when warming
up. 1f 347 were taken, how many were left?
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= 9. How much would it cost for two adult tickets and one child ticket for the
rugby match?

Price per rugby match

L Adult £28

| Child £9
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| 10. What s the otal amountof medals won?

| Sport Amount of medals won
J Swimming 31
Diving 37
! Tennis 12

| Cycling team sprint 19





